= A

Zpd 2

T

SR
K

[Iﬂ

=

=

xy7t oot T Zpedgo
o]-OZ]ﬂ-‘(‘_’ x>y>



@ 173 B3 181% @ 1993 G 20%

D 163



212 w2 72 10km LeHe o] 2 A2 Wb 1 A7 23

i)

AASI Gl BolA 0] 22 vjo] Selat S Eo] 42
e AL

hi

@ Hjo] & %km/h B EL] £ gkm/h

@ Hjo] &¢ gkm/h A= &Y ;km/h

@ "o &¥ ?km/h A EY] &9 gkm/h

@ Hjeo] &2 %Skm/h B &9 gkm/h
5 3

1
@ HH-O’] é'\_Ej' ?km/h . 70}%-0’1 él\—aj' §km/h



=

= rr 2

8ol 6km Holzl ol AL Qltk. & Abgho] vhitr] $i5)
18] 600m o] £ oz Hdol= 18] 300m o] 8oz
Fopgint. 5o F Atgro] whE wf Rlg= o]t

oA Fatelel.

S
-
P
-

g oft 12

=
=

Al
2 k

Qe

*

o

km



A ZHNA B AE7A 98-S ], 2wl A% 2km 2, £t
7 A8k 3kn o HS DL A% 3km 2 Zo] 5 4 7] A3k,
2 w9 Azl @ km 917 Fokolel,

B e km



